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Class — 6™ - Math
Bi-Monthly Test-1(Sample Test)

&C: 1) Part A IR9 1 Wi T8 8 YAS I
2) Part BfST 2 nist T& 6 YHs Ia|
3) AQ YHS A I

Time alloted: 40 minutes (20 marks)
Part-A

(1 mark questions)

8 3 fugst Aftm™ ____ T Number before 8 is

(@) 7 (b)9 (c)-8 (d)o

. 8 vix &t Ag 3 TSt Ao faast I:

Greatest one digit number is:

(a) 4 (b) 5 (c) 1 (d)9

. 48% »i=z et & forest & mise dT Gt T it qu, ut B fe T 39

(1 3% = 10 &)

After understanding the number of bundles and sticks, write the standard form of a

number in the blank. (1Bundle=10 Sticks)

EELS n3 Efriy = fiorst qu
(Bundles) (Sticks) (Standard Form)
TTTY 1 1 1

il il i ES 1 =
(@) 7 (b) 34 (c)70 (d)43

Write the following numbers in the descending order .
14, 45, 6, 18, 9

(a) 14, 45,18,6, 9

(b) 6,9, 14, 18, 45

(c) 45,18, 14,9, 6

(d) 45, 18, 14, 6, 9

. 46 ¥9 35 A= 3 ot yuzs ger J°?

What is obtained if we add 35 to 467

(a) 81 (b) 71 (c) 18 (d)11

. J% JJISolve.

(a) 6 (b)9 (c) 12 (d) 8



7. J% I | Solve.

(@) 76 (b) 23 () 46 (d) 67

8. Jarerg gl met 3 foy |

Write fraction for shaded portion.
(@) 5/3 (b) 3/5 (c) 3/8 (d) 3/2

Part-B
(2 marks questions)
1. £ 55 © Hew 3 £ 339 €9 18 ¥9 I6 »i=3 gt 339 <9 21 59 J6 3 &<
F37gt & AT Sfonit <t fasst €7

In a playground 18 students are in first row and 21 are in second. Find the total

number of students in two rows.

2. &t € Aftmret § A9/ wer & 51 g&ar| L | |
Find two numbers which when added or : {
subtracted gives result 51. \51 H\GO 9 J

uN pu

3. VAW % TS & 18 39 I51I9x% 39 9 5 I®e IS TR niAds % o5 foa
TIHE TS ?

Anjali has 18 boxes of chocolates, and each box contains 5 chocolates. How many

chocolates does Anjali have?
4. 5 fe3ht Hfiret © Ueds § AWS I Ul 8 39
Observe the pattern and fill in the blanks:

6, 12, 24, , ,

5. IH 3% 72 UMt A& Ad9 BAd feg aniintt 6 €At 29 g999 I3t I 3T <R
I9& © fIH st it nrBaainit?
Ram has 72 copies. If these copies are to be divided equally among his 6 friends, how
many copies would each get?

6. fagnrt & 73 I »a9d YT I3 M3 nirfgdrt & &f fed |

Complete the shapes by joining the dots and name them.



Class — 7" - Math
Bi-Monthly Test-1(Sample Test)

&C: 1) Part A IR9 1 i T8 8 YAS I
2) Part BfST 2 nist T& 6 YHs Ia|

3) A9 YyH& At IS
Time alloted: 40 minutes (20 marks)
Part-A
(1 mark questions)
Total count of one digit numbers are:
(a) 4 (b) 5 (c) 10 (d)9
. JaeTg a1 Bt ¥ o |
Write fraction for shaded portion.
(@)1/5 (b) 3/1 (c)1/3 (d) 74

. Bfgz g5 € 1821(<), gargd(=), T37(>)
Use the correct symbol. Smaller(<), equal §979d(=), greater @37(>)

87.....78

(a) 87 <78 (b) 87 >78 (c)87 =178 (d) none of these
. 9 3 fugd Afun ___ I Number before 9is

(a)8 (b)9 (c)-8 (d)10

. 95% vz e F forest & AT IT 8f T fiordt qu, udt B e 9
(1 3% = 10 &)
After understanding the number of bundles and sticks, write the standard form of a number in
the blank. (1Bundle=10 Sticks)
§55 E Femit fiporret qu
(Bundles) (Sticks) (Standard Form)

TTTTT.. 11
il il A W M3 444 = L

(a)35 (b) 8 (c) 53 (d) 80
Write the following numbers in the descending order .

34, 45, 16, 18, 90
(a)18, 16, 34, 45, 90
(b)16, 18, 34, 45,90
(c)45, 18, 34,90, 16
(d)90, 45, 34, 18, 16



. 46 357 35 wez 3 ot yuz Jer 7
What is obtained if we subtract 35 from 467

(a)81 (b) 71 (c) 18 (d) 11
. J% JJ|Solve.
199
X 45
(a) 8955 (b) 9855 () 8945  (d) 9845
Part-B

(2 marks questions)

fa'st Gegae § AHS X U IEH I &9 @ 2

Understand the given example and fill the blanks. '
D@ @ L=
|

S
. fe3t wrfast & ©u 3 3% S5 f&d: Write the equivalent

fraction for the figure. .:| -E

. VA% 3% 18 TABS & 39 I&1IIA 3T ST 5 B IS I TH WiAs &% &% fod Iade
RN

Anjali has 18 boxes of chocolates, and each box contains 5 chocolates. How many chocolates

Anjali have?
. 5 feSht Aftnret € Uegs § AWS I il 8f 39!
Observe the pattern and fill in the blanks:

17, 27, 37, 57, 67, 77, , 97

-

. I3 fozsg v ufoqu fesT 31 fer T s usT &9

The perimeter of figure is given. Find the length of its side.

UfgH™U (Perimeter) = 16 AH
gHT (Length of side) =

N

. Jo Tt nrfgst S99 1 fearst @@ & =991 76 ¢
How many squares of 1 unit are there in the given figure.

T

-



Class — 8- Math

Bi-Monthly Test-1(Sample Test)

&C: 1) Part A fR9 1 Wi T8 8 YAS I&|
2) Part BfS9 2 nist T& 6 YHs Ia|
3) A9 YyH& At I

- il

1

*TT1111

LY LA
I Tl

Time alloted: 40 minutes (20 marks)
Part-A
(1 mark questions)
. & niat T A8 3 22t At faost 37
Which is the smallest two digit number?
(@) 9 (b) 99 (c) 10 (d)o
. 69 3 fugst Aftmi™ _____ J| Number before 69 is
(a)68 (b) -68 (c)-70 (d) 70
Write the number after counting boxes, bundles and sticks.
100 &t = 10 3% = 1 39 (100 Sticks = 10 bundle = 1 box)
(Hundreds) (Tens) (Ones)
Boxes, bundles and sticks | Number of | Number of | Number Number
boxes bundles of sticks

(a) 111 (b) 124 (c)7

Write the following numbers in the descending order.
34, 43, 77, 9, 90

(a)34, 43,77, 90, 9

(b) 9,34, 43, 77,90

()90, 77,43,34,9

(d)90,9,77,43,34

106 f&9° 94 we8F 3 ot yus Jer J7?

What is obtained if we subtract 94 from 1067?

(a)12 (b) 22 (c) 200 (d) 8

(d) 34




. Bfg3s fds a8 1827(<), gargd(=), T37(>)
Use the correct symbol. Smaller(<), equal 89799(=), greater <37(>)

165......156
(a)165< 156 (b) 165 > 156 (c) 165 =156 (d) none of these
. J% IJ | Solve.
234
X 45
(a) 10530 (b) 10503 (c) 15030 (d) 13050

. Ut = fSaT 3791 997 % uT fenr famir | (fg39 &)

What fraction of the whole pizza has been eaten by Harsh. (look at the
picture)
(a)1/8 (b) 8/1 (c)7/8 (d)1/7

Part-B

(2 marks questions)

fe'q % feg 315 99 97 3 83 I6| 749 J9« 99 '3 3 g9 I3 U5, 3T g &9 s g9
J57

There are 315 students sitting on benches in a hall. If three students are sitting on each bench,
find the number of benches in the hall?

. foSt wi=Bfes 95 & fimes fds © gu e fd| 21

Express the given improper fraction in the form of mixed fraction. B

. 7d9 g IIA HITS 500 JUT ©F 993 It J 3T IR fEx A% gmie B8R 3% & I
Jat?

If Anu saves Rs.50 every month then how much money she will save after one year?

. J5 fe St Aftpret € Uegs § AHS X uEl gt 39

Observe the pattern and fill in the blanks:

98, 88, 78, , 58, 48, 38, , 18

. &3t wrfgst 99 1 feaet @@ s =9 767

How many squares of 1 unit are there in the given figure?

. Jof &3 a2 fgsgt <9 gt © AHe3=T f&y |

Write any two similarities in the given figures.
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BIMONTHLY TEST (JULY2024)
CLASS VI SUB-ENGLISH M.M:20

1. Read the following passage and answer the questions. (5*1=5)
Seerat's uncle gifted her a new bicycle. The bicycle was blue in colour. Her uncle hid the bicycle
under the stairs to surprise her. When Seerat looked under the stairs, she saw the bicycle and
jumped with joy. It was the same bicycle, which she wanted. She hugged her uncle joyfully and
thanked him. She showed her bicycle to all her friends.

1. Who gifted a new bicycle to Seerat?
a. Father
b. Mother
c. Uncle
d. Grandfather
2. What was the colour of the bicycle?
a. Red
b. Blue
c. White
d. Black
3. Where did Seerat's uncle hide the bicycle?
a. Behind the curtains
b. Under the table
c. In the garden
d. Under the stairs
4. Whom did Seerat thank for the gift of the bicycle?
a. Her Father
b. Her Mother
c. Her Uncle
d. Her Grandfather
5. To whom did Seerat show her bicycle?
a. All her friends
b. Teachers
c. Bothers
d. Neighbors

2. Read the following passage and answer the questions. (5*1=5)
Mohit and Rohit are two brothers. There is a park near their house. Mohit asks his younger
brother to go to the park with him. They have to cross a very busy road to reach there. On the
other side of the road, there is a traffic signal. Mohit asks Rohit to stop and wait because of the
red light. Mohit tells Rohit about the traffic signals, there are three lights. The red light says,
"Stop", yellow says, "Be ready", and green says, "Go". When the light turns green, they cross
the road and enter the park.

1. What is the name of Mohit’s brother?

a. Raman

b. Sohit

c. Rohit

d. Sham



2. Where does Mohit want to go?
a. To the market
b. To a park
c. Into school
d. Into a cinema hall
3. How many lights are there on the traffic signal?
a. Two
b. Four
c. Five
d. Three
4. What does the YELLOW light say?
a. Be ready
b. Stop
c. Smile
d. Go
5. When do they cross the road?
a. When the light turns green
b. When the light turns yellow
c. When the light turns red
d. When the policeman says

Short Questions:

1.

What is the name of the little puppy in the “Moti And Bindi” story? (@D)]
A) Moti

B) Bindi

C) Sheru

D) Tiger

Who wants to play on a swing in the “The Swing” story? 1)
A) Sonu

B) Sapna

C) Rekha

D) Raju

Who does not like rain in the “Dry and Wet” story? (1)
A) Raman

B) Arjun

C) Pooja

D) Sweety

Who decided to paint main gate of their house in the “Two Little Painters” story?
(1)

A) Leela and Bala

B) Ram and Sham

C) Raju and Sapna

D) Kalu and Shalu

Choose the odd one out. (1)
Stop, Go, Wait, Write

Which day is joyous for children? Q)
A) Monday

B) Tuesday

C) Friday

D) Sunday



7.

10.

Write the meanings of the following words in Punjabi (any two)
A) morning
B) evening
C) play
Who runs to the mango tree in the “Mango Tree” story?

A) Radho

B) Aman

C) Moti

D) Bindi

Who are the Sunshine Workers in the story “Sunshine Workers”?
A) Teachers

B) Doctors

C) Engineers

D) Community Helpers

Write one word for the following statement.

One who delivers us our letters is called,

1)

1)

1)

1)



BIMONTHLY TEST (JULY2024)
CLASS VII SUB-ENGLISH M.M:20

1) Read this passage and answer the following questions 5

Last evening, my mother came into my room to see me. I was looking at the moon. I asked my
mother why the Moon sometimes looks like a big round ball and sometimes like a crescent.
My mother told me that these changes in the shape of the moon occur due to a natural
phenomenon. It is called the phases of the moon. As you know, the moon revolves around the
Earth, and as it revolves, its different parts are lit up by the Sun. This makes it look as if the
Moon is changing its shape in the sky.

1. When my mother came into my room, I was..........c.ccceeeeinnnns

a. studying b. sleeping

c. thinking about the Moon d. looking at the Moon

2. How do the changes occur in the shape of the moon?

a. It is a natural phenomenon. b. It is done by man.

c. No change occurs d. It is due to the heat of the sun.
3. The Moon revolves around the...........ccceevieiineinnnnn.

a. Earth b. Sun c. stars d. planets

4. The Moon revolves around the Earth. (T/F)
5. The Earth revolves around the Moon. (T/F)

2) Read the following conversation and answer the questions that follow: 5

Mother: Raju, pick up the phone.

Raju: Okay, Mom. (Raju picked up the phone and talked; it was his father's call.)
Mother: Whose phone call was it?

Raju: Mom, it was Dad.

Mother: What was he saying?

Raju: He said that he would be late due to some meeting in the evening.

Mother: Okay.

Raju: Mom, who invented the telephone?

Mother: Son, Alexander Graham Bell invented it. It helps us to communicate with people
sitting far away.

Raju: Mom, nowadays, mobile has taken the place of landline phone.

Mother: Yes, dear. Mobile phone enables us to talk, text and take pictures.

Raju: Mom, please give me a mobile as a gift on this birthday.

1. The above conversation is between.........

a. Raju and father b. Mother and father = c. Mother and Raju  d. Raju and friend.

2. Whose Phone call was it.?

a. Mother's b. Friend's c. sister's d. father's

3. Why his father will be late?

a) because his car was damaged b) because he was going somewhere else

c) because it was really heavily raining  d) because there was a meeting in the evening



4. Who invented telephone?

a. Alexander Graham Bell b. Isaac Newton c. Albert Einstein
5. Who has taken place of telephone?
a) mobile b. TV c. internet

3. Your sister or brother who was born before you is called:
a) Younger  b) Elder c) Big d) Large

4. Pick out the correct meaning of the word 'Complete':

a) control b) start c) finish d) stop

5. Fill the correct option.

Animals ___ important lesson.

a) share b) shared c) sharing d) gave

6. Pick out the correct option:

What does the red light say?

a) Red light says ' start'

b) Red light says 'get ready'

c¢) Red light says ' stop'

7. Which one is used to play Cricket?

a) Racket b) Football c) Bat d) Stick

8. A clown with red nose, plays the role in:

d. Thomas Edison

d. cable

a) Boxing b) Wrestling c) Circus d) Hockey

9. State the following sentence as true or false-
Mohit and Rohit are neighbours.

10. Pick the odd one out:

a) stop, go, wait, dance.

11. Give one word for the following sentence:
One who mends the shoes.

a) Cobbler b) Postman c) Nurse. d) barber



12. Translate the following sentence in Punjabi:

It has been raining a lot since morning.

a) o O faor I

b) SUfaa 3 Hig O fagr I

¢) 9I3 39 I J IA Il

d) AR 3 993 famrer g9y J It Il



CLASS-8™ SUB.-ENGLISH
BIMONTHLY TEST M.M.-20
1) Read this passage and answer the following questions: (4)

One night, 8 planets had a party. All the planets were wearing different colours.
Mars was wearing red. Earth was green, blue and brown. Jupiter, the biggest
one, was all orange. But Saturn wanted to look stunning. After thinking for
some time, Saturn had an idea- What about bright rings? So, Saturn got some
nice, new bright rings and it happily went to the party of planets.

a) How many planets are discussed in above paragraph?
)9

i) 7

iii) 8

Iv) None of these.

b) Which planet wanted to look stunning?
1) Jupiter

1) Saturn

i) Mars

iv) Earth

¢) Which planet was in orange colour?

1) Saturn

i) Mars

iii)Earth

Iv) Jupiter

d) Which colour did the Earth wear?

1) Green

i) brown

iii) blue

iv) All of these



Q2. Look at the picture carefully and answer the questions that follows: (5)

Festivals
o
India

PUSHIKAR
. FAIR

Q1. The poster tells us that:

(@) India is a land of festivals.

(b) we celebrate many festivals in India.

(c) Festivals of all religions are celebrated in India.
(d) all of these.

Q2. What is the importance of festivals in our life?
a) They give us new energy.

(b) They keep our culture alive.

(c) They entertain us.

(d) All of these.

Q3. The festivals of Eid is celebrated by:

(a) Hindus.

(b) Sikhs.

(c) Muslims.

(d) None of these.

Q4. Holi is a festival of:

(@) lights

(b) colours.

(c) praying in mosques.

(d) cleaning our houses and shops.

Q5. How many festivals are shown in the picture?

(@) 3 (b) 5 (c) 6 (d)7

3) Choose the correct option: (3x1=3)
a) Who loved to play?

i) Moti

i) Bindi

iii) both

Iv) None of these.



b) Who were the two little painters?

1) Monhit and Rohit

i) Pooja and Arjun

Iii) Leela and Bala

Iv) Rahul and Pahul

¢) One who mends shoes is called ......

1) Cobbler

i) Postman

1) Nurse

Iv) Shopkeeper

4. Mention one thing related to each season. One is done for you. (Y2*4=2)
1) Summer. Ice cream

i)Winter. ...

1) Spring. ...

iv) Monsoon.  .............

v) Autumn. ...

6)Write antonyms: (¥2*2=1)

i)love ...

i) younger ...

7) Find out the preposition in the following sentences: (1*2=2)
1) Raju is studying in his room.

i1) There is a phone call from his father.

8) Unscramble the words to form sentence: (1x 1=1)
a) looking/was/the/at/moon/I.

1) I was looking at the moon.

i) Moon looking was at I.

1ii) Was at the moon | looking.

Iv) none of the above.



9) Translate these sentences into Punjabi: (2x 1=2)

1) Suddenly, the telephone rings.
1. WITEd, THSE HirfenT|

2. THEE NETR |

3. NI SHEs ©f W IAeT T
4. THEs o W T

2. Today is a holiday.

1. nfF 22t T IIET Ia |
2. niF °f fEx 22t J|

3. J® g2t I

4. nfq g2t = fea T
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